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i at is the approximate width of a perser's little finger? (0. [The mass of a pliysics textbook Is closest to
@O tm (3) 00tm . ) 10°kg {3) 10°kg
(2) 6im {(4) 0.001m : &) 10'kg @ 10%kg
,\\ 'S The mass of a high sahonl football player is appro:nma-rely o The height of a doerknob above the floor is closest o 2
1) 10°kg {3) 10° kg _ (1) 1centimeter {3) !millimeter :
2 10 kg {4 16 kg (2) 1meter (4) 1V¥lometer
@Mmf is the approximate mass of o pencil? {2 The area of this page of the test booklet is closest 1o
1y 50x10"Kg (3) 5.0x 10° kg () 06em® {3) ¢0cm?
2) 50x=10"kg {4y 50%10'kg @ &em’ {4) 600 end
Which measurement of on average classroom door is closest to @ A reasoncble haigh'r for a chalk tray above the floor is closesf
1 meter? to
§)] thickness (3} height (1) lem . (3} 100em..
(2) FwidTh (4) surface area (2) 10em- ' (4) 1,000 cm
. & . The thickness of one page of this test baoklet is closest to |- 4. e height of an overage adult is approximately 175
M 10*m (3) 10°m : M cm L (3) mm
) 10°m (4) 10°m _ @ m 4) km
6 . A mass of ore kilogram of nickels has a monetary value in @T‘hz thickness of a pencil is closest to
“United States dollars of approximately O 1rm @) Im
M $L00 (3) $10.00 (2) lem (4) 1km
(2) $0.10 (4)" $1000.00
18. What is the approximate. diameter of a dinner plate?
bt 5o g et | 0 00028 ® o251
agram ofter a -kilogra i on SSUm . .
: the hanger is at rest in both positions, J _ @ 0‘025 " “) 25m
e : _ 17. The weight of an apple is closest ﬂ; . (
. ) () 10°N (3) 10°N '
E & 10°N (4) 10'N
e The length of a high school physics classroom i probably
_ # closest to
Oom-1 = H "“? 020 kg ) 1(1-I m (3) 10'm
1 y @) W'm @) 10'm
hsdfi,t;?(r‘* - . . if The thickness of a dollap bill is closest o
Tom an] H @ 10°m (3) 10" m
EW ' & 10°m % 10 m
Unloaded ' Loaded 90 The approxlrncrl'e mass of a nicked is
A 1230em (@) 1270cm - () 00008 kg - (3) 0By
@ f280cm - - {4) 1330cm - (2 0005 kg ) Skg
. ’ . To the nearest order of magnitude, how times great,
g . The maximum time allowed for the completion of this : g any greaer,
examination i approximately {3 Ar) zh}an :;'e speed.of sound is the speed of I:ghf" In QQQ’ Tﬂb\es
. 1 (3) 10
1) 10°s: (3) 10°s
@ 10% 4) 10°s @ e @ 1"
4 . Which object &eighs opproximately newton? Which is the most likely mass of a high school studen:s
{) dime (3) physics student ay 1kg - () &0kg-
@) paperchip (@) golf ali - @) sig ' 4) 250 kg |
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